Gubi 52 Chair Wood 21001-52-XX Assembly instruction G U B I

Products:

Gubi Chair shell — wood front
upholstered, 4-leg wooden base —non
stackable, 4 pcs M6x20 flat head
screw, 4 pcs rubber washer,

Tools:
Akku drill or screwdriver with Unbraco
4 bit

Products:
Gubi chair shell — wood front
upholstered.

Action:

Turn the shell upside down, so the
holes on the backside of the seat is
visible and faces upwards.

Products:

Gubi chair shell — wood front
upholstered, Wiirth DOS thread
locking agent MEDIUM, Art. No.
0893243050

Action:
Apply a suitable amount of the locking
agent in the 4 pcs mounting holes

Products:

4 pcs M6x20 Unbraco 4 flat head screw
from Disosols, 4 pcs rubber washer
47x4,9x3 mm EPDM 80 sh Klinger
Danmark Art. No. 2925.

19. november 2014 Assembly Instruction 01-15-210-00



Gubi 52 Chair Wood 21001-52-XX Assembly instruction G U B I

Products:
4-leg wooden base — non stackable, 4
pcs flat head screw

Action:
Put 1 screw through the bottom of the
wooden base.

Products:

4-leg wooden base — non stackable, 4
pcs flat head screw, 4 pcs rubber
washer

Action:

Place a rubber washer on top of the
screw on the top side of the wooden
base.

Products:

4-leg wooden base — non stackable, 4
pcs flat head screw, 4 pcs rubber
washer

Action:
Press the rubber washer down on the
top of screw.

Products:

4-leg wooden base — non stackable, 4
pcs flat head screw, 4 pcs rubber
washer

Action:
The rubber washer will now hold the
screw fixed to the wooden base.

19. november 2014 Assembly Instruction 01-15-210-00



Gubi 52 Chair Wood 21001-52-XX

Products:

4-leg wooden base — non stackable, 4
pcs flat head screw, 4 pcs rubber
washer

Action:

Now do the same with the rest of the
screw, so all 4 screws are fixed to the
wooden base

Products:

Gubi chair shell — wood front
upholstered, 4-leg wooden base, 4 pcs
M6x20 flat head screw, 4 pcs rubber
washer

Action:

Place the wooden base with the fixed
screws on top of the shell, so the
screws in the base catches the holes in

Products:

Gubi chair shell — wood front
upholstered, 4-leg wooden base, 4 pcs
M6x20 flat head screw, 4 pcs rubber
washer

Action:
Make sure that all screws are correct
into the thread in the shell.

Assembly instruction

Action:
The M6 screws can be tightened with a
screwdriver or an Akku drill.

19. november 2014

Assembly Instruction

GUBI®

01-15-210-00



Gubi 52 Chair Wood 21001-52-XX Assembly instruction

Action:
Please make sure all screws are
tightened properly.

Action:

Turn the chair around and place it on
the legs.

The Gubi chair is ready for use.

19. november 2014 Assembly Instruction 01-15-210-00



